Name:  ______________________
Chemistry 11

Chapter 6 Review #2
1. _____ H2CO3 → _____ CO2 + _____ H2O

2. _____ SO4 → _____ O2 + _____ SO3
3. _____ AlCl3 + _____ KOH → _____ Al(OH)3 + _____ KCl

4. _____ Fe2O3 + _____ Al → _____ Al2O3 + _____ Fe
5. ____ C4H10 + _____ O2 → _____ CO2 + _____ H2O

6. _____ NaPb + _____ C2H5Cl → _____Pb(C2H5)4 + _____ Pb + _____ NaCl

7. _____ Mg3N2 + _____ H2O → _____ Mg(OH)2 + _____ NH3
8.  _____ C7H6O3 + _____ O2 → _____ CO2 + _____ H2O
9. Classify each of the following reactions as exothermic or endothermic.

a. CH4 + 2O2 → CO2 + H2O + 891kJ     _______________

b. KClO3(s) + 41.4kJ → K+(aq) + ClO3-(aq)     _______________

c. 2Na2O(s) + energy → 4Na(s) + O2(g)     ________________

d. C12H22O11 + 12O2 → 12CO2 + 11H2O   ΔH = -5638kJ     ______________

e. AB + 50kJ → A + B     _______________

f. 2H2O + O2 → 2H2O2   ΔH = +232kJ     ________________
g. CaO(s) + H2O(l) → Ca(OH)2(aq) + energy     _______________

10. Draw an energy diagram for the following reaction.  Be sure to properly label the axes of the graph, ΔH, the products and the reactants.
      C5H12S + 9O2 → 5CO2 + 6H2O + SO2 + energy
11. Write names or formulas for each of the following compounds.

a. Iron (III) phosphate     _____________________________
b. Manganese (IV) oxide     _______________________________
c. Nitrogen monoxide _________________________________

d. Lithium phosphate  ________________________________

e. MgCO3     ___________________________________

f. Na2SO4∙2H2O     ___________________________________

g. SO3     ______________________________________

h. Ni(OH)3  ______________________________________  

12. Define the following terms:

a. Closed system:  ________________________________________________________________
_____________________________________________________________________________
b. Precipitate:  ___________________________________________________________________
_____________________________________________________________________________
13. Predict the products of the following reactions.  Be sure to balance the equations.

a.     H2 +     Cl2 →
b.     Ca +     FeSO4 →

c.     NO2 →

d.     NaNO3 +     MgCO3 →

e.     C6H12O6 +    O2 →
f.     SrCl2 +     Br2 →

14. Identify the missing reactant or product, and then balance the reaction.

a.        C2H2 +       _______ →        CO2 +        H2O
b.        Fe +        Al(NO3)3 →        Al +        ___________                      (Assume Fe becomes Fe+2)
c.        Na2Cr2O7 +        CaCl2 →        ___________ +        NaCl

15. For each word reaction, write the correct balanced chemical reaction equation, including phases.

a. Aqueous sulfuric acid and aqueous calcium hydroxide react to produce a calcium sulfate precipitate and liquid water.

_____________________________________________________________________________
b. Liquid bromine reacts with aqueous iron (III) chloride to produce chlorine gas and aqueous iron (III) bromide.

_____________________________________________________________________________
c. Gaseous sulfur dioxide reacts with oxygen gas to produce gaseous sulfur trioxide.

_____________________________________________________________________________

d. Iron metal and aqueous aluminum sulfate react to produce aluminum metal and aqueous iron (III) sulfate.

_____________________________________________________________________________

16. For each reaction below, write the correct word equation.
a. H3PO4(aq) + 3KOH(aq) → 3H2O(l) + K3PO4(aq)

_____________________________________________________________________________
_____________________________________________________________________________
b. 3AgNO3(aq) + Cr(s) → Cr(NO3)3(aq) + 3Ag(s)

_____________________________________________________________________________

_____________________________________________________________________________

c. CaCO3(s) + 2HCl(aq) → CaCl2(aq) + H2O(l) + CO2(g)

_____________________________________________________________________________

_____________________________________________________________________________

d. Zn(s) + 2HCl(aq) → ZnCl2(aq) + H2(g)

_____________________________________________________________________________
_____________________________________________________________________________
17. Classify each of the following reactions as one of the 5 major types.

a. HNO3 + LiOH → LiNO3 + H2O     _______________
b. 2HI(g) → H2(g) + I2(g)     _______________

c. Co(NO3)2 + H2S → 2HNO3 + CoS     _______________

d. F2 + CaBr2 → CaF2 + Br2     ________________

e. 2KMnO4 + Li2CrO4 → 2LiMnO4 + K2CrO4     _________________

f. C3H6OS2 + 6O2 → 3CO2 + 3H2O + 2SO2     ________________

g. 2Al + 3S → Al2S3     _______________
h. 2NaN3(s) → 2Na(s) + 3N2(g)     ______________

i. 2H3PO4(aq) + 3Zn(OH)2 → Zn3(PO4)2 + 6H2O     ________________

j. TiCl4(g) + 2Mg(l) → Ti(s) + 2MgCl2(l)     ________________
